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Copy and complete each problem below. Set your working out clearly as you have been shown.
Rename the remainder as a fraction.

[1] 614 + 10 = [2] 669 + 3 = B8] 771 + 4 =
[4] 369 + 12 = [5] 461 + 5 = 6] 510 + 5 =
[7] 643 +5 = [8] 750 + 4 = 9] 816 + 4 =
[10] 827 + 3 = [11] 936 + 5 = [12] 1033 + 3 =
[13] 601 + 10 = [14] 684 + 4 = [15] 749 + 6 =

[16] 855 = 9 = [17] 960 + 3 = [18] 1042 + 4



ANSWERS

Division

Copy and complete each problem below. Set your working out clearly as you have been shown.

Rename the remainder as a fraction.

[1] 614

[4] 369

[7]1 643

[10] 827

[13] 601

[16] 855

10

12

10 =

61

30

128

275

60

95

2/5

3/4

3/5

2/3

1/10

[2]

[5]

(8]

[11]

[14]

[17]

669

461

750

936

684

960

223

92

187

187

171

320

1/5

1/2

1/5

[3] 771+ 4 =
[6] 510 + 5 =
[9] 816 + 4 =
[12] 1033 + 3 =
[15] 749 + 6 =
[18] 1042 + 4 =

192

102

204

344

124

260

3/4

1/3

5/6

1/2



